H.W. #13 EE 221 Spring 2020

Show your work for credit and put a box around each of your answers (follow the hw
guidelines!)

1. Write an equation for V¢ in the following circuit. Verify your hand calculations with
LTspice. (3 points)
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Note that the capacitor is discharged.

g g -tran 1u
—- =] c .model sname sw
S 3 S ic V(Vc)=0
» 3}
R1
2 o
>y o l\/\’ Ve
= o NS 1k
8 vz E @ c1
- c
- []
~
i
7
- |
2
o

2. Write the equation describing the voltage across, and current through, the inductor in the
following circuit. Use LTspice to verify your answer. (3 points)
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Note that the initial current through the inductor is NOT zero.

3. Repeat problem 3 if the inductor and resistor (R1) positions are swapped. (3 points)

4. Write the equations describing the voltage across, and the current through, the inductor in the
following circuit for both the rising and falling edges of the input pulse. Again, use LTspice
to verify your answer. (3 points)
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5. Repeat problem 4 if the inductor and resistor positions are swapped. (3 points)



